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General Instructions :

(1)
(i)

(iii)

(iv)

(v)

(v)

(vii)

This question paper contains 13 questions.

All questions are compulsory. Marks are indicated against each
question.

This question paper contains § questions of 2 marks each, § questions of
3 marks each and 3 questions of § marks each.

2 marks questions are Short Answer Type questions and are to be
answered in 30 — 50 words.

3 marks questions are Short Answer Type questions and are to be
answered in 50 — 80 words.

5 marks questions are Long Answer Type questions and are to be
answered in 80 — 120 words.

There 1s no overall choice in the question paper. However, internal
choice has been prouvided in few questions. The candidates need to

attempt only one question from such questions.

(viit) This question paper contains Case/Source Based Question also.

1.  Justify the following statement with valid argument :

‘At higher levels of income people generally have lower Marginal

Propensity to Consume (MPC). 2
2. (a) State any two harmful effects of Global warming. 2
OR
(b) State any two advantages of ‘sustainable development’. 2
3. ‘In any country, as the income rises the composition of infrastructure

requirements changes significantly.’

Do you agree with the given statement ? Support your answer with

suitable argument. 2
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(b)

(b)

(b)

U IETET R, ThRIHh STEIAIT 3T TehIcHe STEATATST § TR T hi |
srran

U ISTET G, Tieh T o T = § ST T h |

Teh HIcd(eh 3Teawer o feTu 31T % T TR 1 0T i, foreh an o I 3
afh:
() @A fEw () =2 10,000 FUS, T
(i) 39 Ber; C = 2000 + 0.75Y;

& C =39 g Y = 31

e

Teh hlcd(eh Ffeqaee & foiu 31 4 aftada (AY) 1 TorT &L, f5Ees I 4 o8
g, 6
() TEw ¥ afeda (Al =% 5,000 HUS
(i) €T 3u wafa (MPC) = 0.75

Teh Shicd-eh 1T | Hifgeh Tohet TXe] 3T o Hod 1 A Y, elfeh I8
T & o amEafareh dehel Te] IS 9 Hoof Haehih shUSl: T 500 FUS T 125 8 |

e
=T RN gRT T8 i foh, TrferRaa o @ @ wia 6t i o # wfefera 7=t
FM 2

() o Wik IR | ¥t ffiee & 379 (Shares) 1 T fHawms gRI1 @ |
(i) ST fRT AR qaTaTE g TR Sfieh] S adH 1 A |

(i) dofiTa FUfRIT O HHT GRT SRR T easTe

7. U HIcd-eh ICTEW G, Teh Jnefeaeen # farst 7ureh 1 shrivromeft st fordamn & |
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4. (a) Using a suitable example, distinguish between positive externalities
and negative externalities. 2
OR
(b) Using a suitable example, distinguish between stock variables and

flow variables. 2

5. (a) Calculate equilibrium level of income for a hypothetical economy for
which it is given that :

(i) Autonomous Investment (I)) =% 10,000 crores, and

(11) Consumption Function; C = 2000 + 0.75Y;
where C = Consumption and Y = Income. 2
OR
(b) Calculate, Change of Income (AY) for a hypothetical economy, for
which it is given that :
(1) Change in Investment (AI) = 5,000 crores.
(11) Marginal Propensity to Consume (MPC) = 0.75. 2

6. (a) Estimate the value of Nominal Gross Domestic Product (GDP) for a
hypothetical economy. The values of Real Gross Domestic Product
(GDP) and Price Index are given as I 500 crores and 125
respectively. 3

OR
(b) Giving valid reasons explain, which of the following will not be
included in the estimation of National Income of India ?
(1) Purchase of shares of Sethi Ltd. by an investor in the Bombay
Stock Exchange.
(11) Salaries paid by Indian Embassy situated at Japan, to the local
workers.

(i11) Depreciation on capital assets charged by firms. 3

7. Using a hypothetical example, elaborate the working of investment

multiplier in an economy. 3
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8. < g T H ¥ Tl g1 Tehashl o TR W 9 9 = <t ey fRufa < qorn 3t
[ERCEUETE
31 TP o Y HARA R T (TR Foheleh) (2015-17)

GqEan
(i) | T 7eg < /1000 Siferd s 34 | 8 57 | 7.5
(i) | 59| FHH TG /1000 Sfferd 3 39.4| 93 | 66 | 88
(iii) | frgrsti &1 debreReer (DTP) % | 88 | 99 95 99
(iv) | TRt W =5 (GDP & % o &9 H) 39 | 5.7 | 168 3

|rd : HDI 2018 9 WDI 2018.

9. g A refegaren d yufdd Thifasrl sTaue 1 feufa o faged o foag fafir susmon &
39T T g fezm o 1

Teh hTcui-eh JTefegeret § hifderi) 3Tauet &1 feufa o s=M o foru fondl &1 wifees ifa
I 1 Ieoid 9 U Y |

10. (@) “grel % ferl § wRa ShR 7 WK ferfepean wgfa i gmsiifaa o el s &
foTT AUl HeH 3BT E |7
T 31T fEU TTC U= | TgHd & 7 T HRUN gRT 379 I hT I i |
(i) “hriee 1 ATNTARIHT W FAfeqae i ueh foearf grean @ 2 17 9=
TRt g feu 7T e 67 gfy o |
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8. Compare and analyse the health status of India and China, on the basis of

any two indicators from the given schedule :
Indicators of Health in India in Comparison with other nations, 2015-17.
S. No. Indicators India | China | USA | Sri Lanka
@A) Infant Mortality Rate/1000 live 34 8 5.7 7.5
Births
(i1) Under-5, Mortality Rate/1000 | 39.4 9.3 6.6 8..8
live Births
(111) Infants Immunised (DTP) in % 88 99 95 99
@1v) Government Health spending | 3.9 5.7 16.8 3
as a % of GDP
Sources : HDI 2018 and WDI 2018.
9. ‘Keynes suggested the use of various tools to deal with the situation of
Inflationary Gap prevailing in an economy.
State and discuss any two monetary policy measures to combat the
situation of Inflationary gap in a hypothetical economy.
10. (@) ‘In the recent past the Government of India has taken vital steps to
revive and popularise Indian System of Medicine (ISM)’.
Do you agree with the given statement ? Justify your answer with
valid reasons.
(11) ‘Casualization of workforce has became a perennial problem of the
Indian economy.” Justify the given statement with valid arguments.
7 SR T o
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11. (@) () Fe=faRed sAiee & snur W, 9o AT T That TER 3T & oo i

TOT R
. = T (X FE H)
() | srfoent w1 uTferfies 12,000
(i) | fmmEna s 1,800
(iii) | 3ToeTET AT 1,120
(v) | o™ 1,500
V) | qI=E 1,100
(vi) |3ueH 210
(vii) | forcemi & uTed S T ST (=) 120
(viii) | Taftorar st farfya s 1,300

(i) fortren o Taedt 1 fasie =t |

b) () TeuTe TiRei & STTER W, A€ ARG R YE Yo Jfg i T0MET -

AU

A . = (% 000 ®)
(i) | SR H =rEe & fase 580
(i) | FT T UK HTHY 400
(1) | ISR g I BT shd 20
(iv) | o9 o GUH T BT T-ITHRT 15
(V) | 3T I HETH I TWETE W AT 20
(vi) | OUhR g 9T Iaieh 3UCH 3

(i) I b GeA’ 9 PoI aE § fadg L |

freferaa e o1 ergde STEaa i qUT I T 129 13 % IW S

o Y sreferaEen ® SR Y 3Tt ¥ SAferd Ut i WA — sofHe, 24 TR, 2021
<19 <Y referaEyt § 0dt 1 I fvges frasent st 3mereht @ 31k 7 | <A
I et Teee (Real Estate) W FYRar &0 ohid &1 Y@ L &1 @ | Taega i
Hift T TEmR &% HRon, 9 T fren T R Senfieht & i fafEfia e smy

H s |

LI
=

3



From the following data, calculate the value of Gross National

11. (@) @)
Product at Factor Cost (GNPp() :
S. No. Items Amount in
R Crores)
1) Compensation of Employees 12,000
(1) | Rent and Interest 1,800
(111) | Indirect taxes 1,120
@1v) | Profits 1,500
) Depreciation 1,100
(vi) | Subsidies 210
(vii) | Net Factor Income from Abroad (- 120
(viii) | Mixed Income of Self Employed 1,300
(i1) Distinguish between Rent and Royalty.
OR
(b) (@) Calculate the value of ‘Net Value Added at Factor Cost’” (NVAp)
using the given data :
S. No. Items Amount in
X '000)

1) Sale of Rice in the market. 580

(11) Purchase of Tractor and Thrasher 400

(111) | Procurement of Rice by the government 20

@iv) | Self consumption of Rice during the year 15

V) Expenditure on running and 20

maintenance of Tractor and Thrasher

(vi) | Fertilizer subsidies received from the 3

government
(i1) Distinguish between ‘value of output’ and ‘value addition’.
Read the following test carefully and answer, Q. No.-12 and 13, given
below :
Chinese Economy Risks Deeper Slowdown than Markets
Realise - (Bloomberg, 24th October, 2021)

China’s Economy risks slowdown faster than global investors
realise. It is pushing to cut its dependence on real-estate. It has
started regulating sectors from education to technology, as it is
facing power shortage and the pandemic.
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W3 TRt 3 SduH a¥ § GDP 9fg @ % 8.2% ek a1 AT a9 §
5% B I 3T H T G R |

= 319, w0 gfg B FRR FE, FEHEA W HA FIE T GHEAT B
Jreefaeh fafamior & orme <l AT 591 18T 2 | T |wre S R T sttt |,
<frerdt fommdt & GDP afig gt fawmdl 6 7.9% & iRt 4.9% it w8 2 | e
1 et & e Tt § whifers- 19 # 9 % R a1 g 3R rfie 8wl 2 |

HEMT & T, K0 ARG} Bl HT B b HRO Tael & 94 et faemma g 3
srefenferat st srafera fopu gu o | =4 o wemE ot Siekam 3 ure § s fom
o 6% A 3tfereh % ferehrd T1ed 1 €O <61 § | =9 1 g1l % g%l 4, B Hfaar
T &1 < % Hohd QU B, S8 Toh Sehi G KN <l STedehTTeTeh TieaTe ¢l | diued
e 3T =TS o a2t 77T o BT &1 H a1 o7 foh, 32 39 9% 8% i Ifg & h!
Sefie g |

Hifag-19 T 9 HH B4 = &1, 7 7 5t 31 & 2 | < faw |,
g e gl S gl srhieen, stefern, fuelt, UE 9 s St9 Tyl | ot
Siftgw fewré ¢ @1 R | i samn gy, g o ool S ugh w1 o gt
HLHHAT & |

T 31 W g ot ® o, =fim o fifa Fwfaret i amoe fosee vt W aTH %
T s 1 ug Tehar g | rnfeR & 1ER faga i w5 % s
IcUTE 1 HH B TE 7, A et 7 fraw ° gfg @ oft wn ol | 38 yeR
&1 i 3Ter o vt T K Hehd! & STafeh forerd o foheeta s B8Rt |

12. = 31efeeree d He} €S ool fehedl € Shull 1 Iooig J SUH i |

13. H forgl Q1 SuT <t =ame i, TS 31T =9 % 3Tffe oiTgehR o &9 U &d1 Tehd & |
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Many economists have warned that the GDP growth rate will
fall to 8.2% this year and to below 5% in the next year.

China is now planning to stabilise debt growth, curb inequality
and channelise resources into hi-tech manufacturing. Data released
in last week already showed a sharp slowdown in third quarter GDP
growth to 4.9% from 7.9% in the previous quarter. There is more
pain likely to come as electricity shortage persist, while new COVID-
19 infections are expected to rise in coming days.

Even before the pandemic hit, China was surprising economists
with slower-than-expected growth rate caused by the easing off debt
risks. China’s Premier Li Keqiang, announced in March a growth
target of “above 6%” in the coming financial year.

China has signalled, in recent weeks that it could loosen some
policies like telling banks to pick up the pace of mortgage lending as
a short term stimulus. Governor of People’s Bank of China Yi Gang,
recently said he sees an expansion of about 8% for this year.

China’s slowdown comes as the global recovery from COVID-19
risks looses momentum. Among those at risks from falling
investments in China are commodity exporters like Australia, South
Africa, Chile, Peru and Brazil. Slower trades could also hit countries
like Malaysia, Singapore and Thailand.

The other risk is that China’s policy-makers may struggle to
flick the switch back to growth model if they feel that’s needed.
Economists noted that the electricity shortages that are crimping
industrial production will make it harder to cushion growth by
boosting investment in infrastructure. That kind of policy could only
work next year once the power crunch eases.

12. State and discuss any two reasons that exhibit slowdown in the Chinese

economy.

13. Discuss briefly any two measures, which you may suggest as an economic

advisor to the government of China.
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